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QUESTION 1

Consider the following assignable relationship:

wentity»
EntityOne
Q ey = ustruct»
Ly wkey» attributel : SAMPLE_DOMAIN1 ) _“_“J SampleStruct2List
wassignable»
g wdetails» attribute2 : SAMPLE_DOMAIN2 A |
I |

Lg adetails» attribute3 : SAMPLE_DOMAIN1 1

%_ wread multi» readyByAttribute2 ( key : SampleEntityl KeyStructl )

«aggragation»

-dtls

wstructs
— SampleStruct2

| @ wdefault» attribute2 : SAMPLE_DOMAIN2

| @ «default» attribute3 : SAMPLE_DOMAIN1

Which statement about the modeling is true?

A. You cannot assign an entity to a struct.

B. You cannot assign an entity to a struct that aggregates other structs.
C. You cannot assign an entity to a list struct.

D. There is nothing wrong with the modeling.

Correct Answer: D

QUESTION 2

Examine this UIM code snippet: How will the field element be displayed in the list?
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<SERVER_INTERFACE CLASS="Employer” NAME="DISPLAY” OPERATION="getEmployee” />
<PAGE_PARAMETER NAME="person|D" />

<CONNECT>
<SOURCE NAME="PAGE” PROPERTY="personID"/>
<TARGET NAME="DISPLAY” PROPERTY="keySperson|D"/>
</CONNECT>

<LIST=
<FIELD LABEL="Field.Title.PersonReference” WIDTH="20">
<CONNECT>
<SOURCE NAME="DISPLAY"” PROPERTY="personReference”/>
</CONNECT>
<LINK PAGE_ID="Person_Home">
<CONMNECT>
<SOURCE NAME="DISPLAY” PROPERTY="name" />
<TARGET NAME="PAGE” PROPERTY="name"/>
</CONNECT>
</LINK>
<fFIELD>
<fLIST>
A. As an editable text field.
B. As a non-editable text field.
C. As a text field hyperlink.

D. As a drop-down list field.

Correct Answer: B

QUESTION 3
Which statement about domain definitions is true?

A. To customize a domain named MYDOMAIN, create a new domain definition named MYDOMAIN in your custom
package.

B. Domain definitions are a UML concept.

C. All attributes and entities must be based on domain definitions.
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D. A Domain may consist of a mixture of primitive types and other domain definitions.
Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.9/com.ibm.curam.content.doc/
ServerModelling/r_ SERMOD_ Definitions1DomainDefinitionClasses1.html

QUESTION 4

You need to return the total number of people who are under 21 and not studying or in employment. Which operation is
the most suitable to define for the Person Entity?

A. readmulti

B. nsreadmulti

C. nkreadmulti

D. ns.

Correct Answer: B

Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.9/com.ibm.curam.content.doc/
ServerModelling/r_SERMOD_Operations6NonstandardReadmultiGeneratedSql1.html

QUESTION 5

Which two tasks do you need to perform to ensure that the script loads the next time the database is built? (Choose
two.)

A. Copy the IEG script into your custom DMX file.

B. Copy the IEG script to your custom DMX file to reference the script.
C. Modify the entry in the custom DMX file to reference the script.

D. Replace the IEG script in the OOTB folder with the custom script.
E. Load the IEG script to the APPRESOURCE folder.

Correct Answer: BE

QUESTION 6

Which two class types can be modeled in IBM Ciram SPM? (Choose two.)
A. default

B. rest

C. batch
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D. inboundprocess
Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.9/com.ibm.curam.content.doc/
ServerModelling/ctr_CuramServerModellingGuide.html

QUESTION 7

What is specified in the .app file for application-wide searching?

A. References to search pages.

B. The name of the parameter that stores the search input value.

C. The name of the server interface that is called to perform the search.
D. A default search input value.

Correct Answer: C

QUESTION 8

Which two of the following are stored in the datamanager_config.xml file? (Choose two.)
A. Database table names used by the application.

B. Database type and port numbers.

C. References to folders containing DMX files.

D. References to SQL scripts to be run on a build.

E. References to CTX files containing code tables to be inserted on a build.

Correct Answer: BD

Reference: https://www.google.com/url? sa=tandrct=jandg=andesrc=sandsource=webandcd=6andved=2ahUKEwiji4fWq

glbnAhXEzIUKHYelDIsQFjAFegQIBRAC
andurl=ftp%3A%2F%2Fftp.support.lotus.com%2Fsoftware%2Fsolutions%2Fcuram% 2F6.0.5.5.3%2Fen%
2Fpdf%2FCuramServerDeveloperGuide.pdfandusg=A0OvVaw3ySuCgvFgEPA_Tw8NTC6gw

QUESTION 9

Which statement about developing pods IBM Caram SPM is true?
A. UIM pages that display pods must include PodContainer.vim.

B. PodLoader classes call renders to generate HTML for each pod.

C. UIM pages source HTML from the PodContainerinterface to display the pods.
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D. The PodContainerManager reads properties files to determine the pods to display for the page.

Correct Answer: A

Reference: https://www.google.com/url? sa=tandrct=jandgq=andesrc=sandsource=webandcd=1andved=2ahUKEwjb2qS
FslfnAhURLBoKHbmmBdEQFjAAegQIAh

ABandurl=ftp%3A%2F%2Fpublic.dhe.ibm.com%2Fsoftware%2Fsolutions%2Fcuram% 2F6.0.4.0%2Fen%
2FDevelopers%2FCuramPodDevelopersGuide.pdfandusg=AOvVaw0w-gSsRuZoBUGDxZPZzaoS (14)

QUESTION 10

You want to add a custom attribute to an out-of-the-box (OOTB) struct called CaseDetails. You create a custom struct
called CustomCaseDetails. Both structs are shown in the diagram.

_— astructs

—1 Case Details

L@ «default» caselD : CASE_ID

L@ «default» caseType: CASE_TYPE

=y astruct»
CustomCaseDetails

| “® «default» caseAdded : CASE_ADDED

Which association should you model next?

A. CustomCaseDetails subclasses CaseDetalils.

B. CustomCaseDetails aggregates CaseDetails.
C. CaseDetalils is assigned to CustomCaseDetails.
D. CaseDetails aggregates CustomCaseDetails.

Correct Answer: C

QUESTION 11
Which documentation resource contains a list of allowed and discouraged overrides for domain definitions?
A. Modeling Reference Guide.

B. Server Developer\\'s Guide.
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C. Web Client Reference Guide.

D. Development Compliancy Guide.

Correct Answer: A

Reference: https://www.google.com/url?
sa=tandrct=jandg=andesrc=sandsource=webandcd=1andved=2ahUKEwiT8LiF60TnAhUpylUKHUkKfD_IQFjAAegQIARA

Candurl=ftp%3A%2F%2Fpublic.dhe.ibm.com%2Fsoftware%2Fsolutions%2Fcuram%2F6.0.4.0% 2Fen%
2FDevelopers%2FCuramServerModellingGuide.pdfandusg=AOvVaw3zCdfyWq3-9sTeq24TBILM

QUESTION 12

Which tool do you use?
A. Passport Advantage.
B. Fix Central.

C. RFE Tool.

D. SR Tool.

Correct Answer: B

QUESTION 13

Examine the following piece of code:

curam.impl.MyProcess = curam.fact.MyProcessFactory.newlnstance();

If curam.impl.MyProcess is defined as an abstract class as recommended, which statement is true?
A. The code is incorrect because MyProcess should be from the base package.

B. The code is incorrect because MyProcess should be from the intf package.

C. The code is incorrect because the class curam.fact.MyProcessFactory does not contain a static method newlnstance

0-
D. There is nothing wrong with this code.

Correct Answer: C

QUESTION 14
You discover a possible bug in the out-of-the-box application.
A. Output from “build\\' configreport\\'.

B. Tech Notes for the release.
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C. JMX statistics.
D. CADG output.
E. Custom code base.
F. Screen shots.

Correct Answer: ADF

QUESTION 15

Consider the entity and struct shown in the model:

wentity»
Q SampleEntityOne

wstructs
—{ SampleStructl

Ly «key» attributel : SAMPIE_DOMAINT
Lg «details» attribute2 ; SAMPLE_DOMAIN2

Lg «details» attribute3 : SAMPLE_DOMAINI

= «default» attribute? : SAMPLE_DOMAINZ

ﬁ_ «insert» insert ()

€ «read» read ()

& «modify» modify ()

ﬁh «readmulti» readyByAttribute ( input ; SampleStructl )

A. Type=SampleEntityl, Shadow Type=Key
B. Type=SampleStructl, Shadow Type=unspecified
C. Type=SampleStructl, Shadow Type=Key
D. Type=SampleEntityl, Shadow Type=unspecified

Correct Answer: A
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